
Example of a table as presented in individual studies that allow for calculation of the (dis)concordance.  

 
For example the percentage disconcordance for a shared decision role is calculated by: (B + J) / N * 100%. The 

overall disconcordance for the 3 levels together is calculated by: P – (A + F + K) / P * 100%. 

 

 

Example of a table as presented in individual studies that does not allow for calculation of the (dis)concordance.  

 

Preferred N % 
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Shared   

Passive   

Perceived   
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Passive   

 

 Perceived 

Preferred Active Shared Passive Total  

Active A E  I  M 

Shared B F  J  N  

Passive C  G  K O  

Total D H L P 


